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2 26 Theorem (Chain Rule I). Suppose that g(t) is differentiable att = a, f(x)

is differentiable at x = b, and b = g(a). Then the composite function o(t)
f(g(t)) is differentiable at t = a, and its derivative is given by

¢'(a) = Vf(b)-g'(a),

4.15 Theorem (The Fundamental Theorem of Calculus).

a. Let f be an integrable function on [a,b]. For x € |a,b], I f(t)dt
(which is well defined by Theorem 4.9b). Then F' is continuous on [a b] more-
over, F' () exists and equals f(x) at every = at which f is continuous.

b. Lef\F) be a continuous function on [a, b| that is differentiable except perhaps at

nitely many points in [a,b), and let f be a function on |a,b| that agrees with
F' at all points where the latter is deﬁned If f is integrable on [a,bl, then
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